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Spec Review: Stage 1000

e Edit 2030, 2040 Use Case

Use case 21. Let display sleeping time

Actor User

Type Evident

Pre-Requisites MEFZE ol MEE functionM A CHS function2 2 Y772 %80 (CHES £8) Let display

sleeping time2 2 0|S%HC}
Typical Courses of (A): Actor, (8) : System

Events
1.(8) O1FOf H A=l = 12| sleeping timeS SHHM| FEA|BHCE
2. (A) AlAHE sleeping ime0] =S O 4E 2 & 028 2HSCHAHES FEL).
3. (S) AHERL] 8E £ sleeping time0il EHESHCE
4 (A) CHS function2 £ H0{7}7| £ Q@0 (CHES 22 OIS E S EL}).
5 (S) CtE MEHE function© 2 0| S50t
Alternative Courses E*. &2 cheering message’t 28 A2+ A% Si2 7|52 25t CHA| E0H2CEH
of Events

E* timer7} 28 AlZHY A2 =JI2 oiE 7|58 =it

E1 AldbE =HE =3 AlZto] siLol d20l= 21 (R R fIX)o]| 2o T

E1 AldbE HH =8 AlZHo] gis Z20= st R0A[A] =0t



Implementation



Redmine

Resolved all the issues in Redmine

B4 DWS

+ Overview Activity Spenttime Ganitt Calendar News Documents Wiki Files Settings
Issues
“ Filters
Status open v
> Options BugZt status= resolved £ HF&E =
« Apply @ Clear ] Save 9191%... (#g% E_I|:_ 2I_I-E)
O # v Tracker Status Priority Subject Assignee
O o1 CodeSmell New MNormal [Blocker] "icons” is the name of a field in "Window™ £ZF 4t
O @0 CodeSmell MNew MNormal [Blocker] Remove this throws clause. Kyungjin Kim
O 82 Vulnerability New MNormal [Minor] Use a logger to log this exception. Kyungjin Kim
O 88 Vulnerability New Low [Minor] Explicitly declare the visibility for EZF 4
O 87 Vulnerability New Mormal [Critical] The user-supplied array ‘alarmingDay’ is stored directly. 2k 0|
O 86 Vulnerability New MNormal [Critical] Returning ‘functions’ may expose an internal array. M 0|
O 85 Vulnerability New MNormal [Critical] Returning "alarmingDay’ may expose an internal array. £ZF 4t
O 84 Bug Resolved MNormal [Minor] Use "Thread.currentThread().getContextClassLoader()” instead. Lee Eugene
O 83 Bug Resolved MNormal [Major] Either re-interrupt this method or rethrow the "InterruptedException”. Lee Eugene
O 81 Bug Resolved MNormal [Major] view.UI.systemWatching() uses the nextDouble method of Random to generate a random integer; using nextInt is more efficient Lee Eugene
O 8o Bug Resolved Mormal [Major] Unused field Lee Eugene
O 79 Bug Resolved MNormal [Major] Equality tests should not be made with floating point values. Lee Eugene
o 78 Test New Normal [SetAlarm] SetAlarm® A 520| X|LI7tH display alarm 22 S0t7H=X| 2T 2F 4
O 77 Test New Normal [SetTimer] SetTimer® A 520| X|Lt7+H display timerE S0t7H=X] QIS g5
o 76 Test New MNormal [SetTime] SetTimeM A 520] XL}7HE display time2 2 S0t7H=X| SRITHT, EF 4
O 43 Test Feedback Mormal  [Sleeping] =& =0 A|7t0| Cheering Message?t 22 T|=X| 29IEHC} 2F 4
O 39 Feature Feedback Normal [Sleeping] spect A SHO| LL2=X] 20 L-E =T
O 36 Feature Feedback MNormal [Alarm] specl] 2HH SHH0| LX) 20 Lee Eugene
O 32 Test Resolved Normal  [Alarm] £& & A|ZHY buzz8H=X| EQISHCH EE
O 31 Test New High [Time] 70| E3Z O Overflow?t L4 8H=%| QIS 2z g
E—

(1-20/20)



Slack

global me | 3 M 5 t -
e Tuesday, 16 June v i Yesterday v
slam r 63| 1t A2 20 B AZIO CHE B S A2

time

pTimetiA| SRO| ALIRY display sleeping time22 FOPHEX

timar

8 BO| 50| ALIE W2 modeZ BOPISR| BIPIEC

| l 2. 12| 7 AS 0] T2 set [function]0| A OLRHE =2 %] 2571 550] K|Lje display [function]
2 Yo{7t=Het 2% display time2 2 7H=H] Ot 2} 2} function®| display= S0tt=21dl, H
O she =hol SErC L oh

timer, alarm, cheering messa;
HENZH TN 2 dispaly =l Al

SM7EHOf 2[H|H = Mot SHlsts S EE 23

=0l7Ie?
A Fail 2 H[ A 22 ZS7E| 20t redminelf] 2ZOE 22 s¢o L, iZe =0 met et

Ei = InProgress =2 Resolved= H AW FAIH 2 A L. A7t ChA] 2HoIot sl MEH S Feedback = _
Closed 2 BFR01 7nga. 1. sig HAE L H 7} 2ol resolvedE HHR = Z{0] T
2l = resolved feedback2 = ¢ o elL|Ck

n = Al brute forcelt category-partitionZ: 7t oj=A ol20{X 2 1 Ent= o= A 2. 8 28 97|2 2H T4 LT back to base function0| 25 ZHESSLX] 29t7| 0 fail2 M2 E
QL XL X 3|7} L0jof 5h= S 20| O 7tR? 3, HO1A] ZEAA| 2. oL}, 2t setimode] 7} display[mode] 2 S0I7HA] t=Ci
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1. L0 M =25 = 1.1.122} 2t categorize] test result2] keyZt=0] HE 2|
oj eI,
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Bug fix

[#79] Equality tests should not be made with floating point values

> long/int2| EtE doubleZ cast®t & Math.ceil()0l| CH 3l sHZ

v 3 EEm src/main/java/controller/mode/Timer.java [7) ses

@@ -65,7 +65,8 @@ public int checkTimer(long systemTime){

if(this.state == 2){ if(this.state == 2){
// System.out.println(this.settedTime + " " + this.stackedTime + " " + this.startTime + " " // System.out.println(this.settedTime + " " + this.stackedTime + " " + this.startTime + " "
+ systemTime); + systemTime);
// System.out.println(Math.ceil(this.settedTime/1000) + " " + Math.ceil((systemTime - // System.out.println(Math.ceil(this.settedTime/1000) + " " + Math.ceil((systemTime -
this,startTime + this.stackedTime)/1000)); this.startTime + this.stackedTime)/1000));
- if(Math.ceil(this.settedTime/1000) == Math.ceil((systemTime - this.startTime + + if(Math.ceil((double)(this.settedTime/1000))
this.stackedTime)/1000)){
+ == Math.ceil((double) ((systemTime - this.startTime + this.stackedTime)/1000))){
//E0IH7L 28 //EROI07H 28 o
this.state = 1; this.state = 1;

this.startTime = systemTime; this.startTime = systemTime;



Bug fix

[#80] Unused field

> i TP O A M d o TempSystem= A XS sH S field7t =2 Q6HA import=| X| Y =& =7

package controller;

v 224 EEEEE src/main/java/controller/tempSystem.java [°]

Unused field: controller.tempSystem.functionList Why is this an issue?

¥¥ Bug ~ @ Major+ O Open v Not assigned » 30min effort Comment

Unused field: controller.tempSystem.alarms Why is this an issue?

¥¥ Bug Major + O Open v Not assigned v 30min effort Comment i
Load diff

Unused field: controller.tempSystem.globalTime \Why is this 2n issue? This file was deleted.
¥¥ Bug * @ Majorv O Open v Not assigned » 30min effort Comment

Unused field: controller.tempSystem.sleepingTime Why is this an issue?
¥¥ Bug * @ Majorv O Open v Not assigned » 30min effort Comment

Unused field: controller.tempSystem.stopWatch \hy is this an issue?
¥¥ Bug v Major * O Open v Not assigned v 30min effort Comment

Unused field: controller.tempSystem.timeKeeping \why is this an issue?
-ﬁ'- Bug + @ Major v O Open v Not assigned + 30min effort Comment

Unused field: controller.tempSystem.timer Why is this an issue?
¥¥ Bug - Major + O Open v Not assigned v+ 30min effort Comment



Bug fix

[#81] view.Ul.systemWatching() uses the nextDouble method of Random to generate a random integer;
using nextint is more efficient

>3 = M4 Al nextDouble method2 AFEHE 242 new Random().nextint(2) 2 HHL O] H| 2= 714

import java.time.LocalTime; import java.time.LocalTime;
import java.util.Arrays; import java.util.Arrays;
+ import java.util.Random;

public class UI { public class UI {
: @@ -169,7 +170,7 @@ else if(checkerList[2] == 2) { // ring timer
customText = new StringBuilder(customize); customText = new StringBuilder(customize);
for(int i = @; i < customText.length(); i++) { for(int i = @; i < customText.length(); i++) {
if(customText.charAt(i) !'= ' ') { if(customText.charAt(i) != ' ') {
- temp = (int)(Math.random() * 2); + temp = new Random().nextInt(2);
if(temp == 1) customText.setCharAt(i, (char)(customText.charAt(i) - ('a' - if(temp == 1) customText.setCharAt(i, (char)(customText.charAt(i) - ('a' -

‘A)); A



Bug fix

[#83] Either re-interrupt this method or rethrow the "InterruptedException”

> Xl ESHE 22| E0 Al Thread.currentThread().interrupt(); S S5l InterruptedException]| i
H 2O interruptE 20 0|2 MELAZ[ AL HXX] REESE =5

public void run() {

this.flag = false;

while(true) {
if(!this.flag) {
threadWait();
this.flag = true;

toolklt beep();
try {
Thread.sleep(1000);

Either re-interrupt this method or rethrow the "InterruptedException™.

¥¥ Bug~ @ Major~ O Open~ Notassigned ~ 15min effort Comment

this.wait();

} catch (InterruptedException e) {
e.printStackTrace();
Thread.currentThread().interrupt();

S

public synchronized void threadNotify() {

this.flag = true;
}
toolkit.beep();
try{
Thread.sleep(1000);
}catch(InterruptedException e) {
e.printStackTrace();
Thread.currentThread().interrupt();



Bug fix

[#84] Use “Thread.currentThread().getContextClassLoader()" instead

> 0|0l 22+ 1P A| AHESE getClass().getClassLoader()
Thread.currentThread().getContextClassLoader()2 B0 $1X| =10 Q= thread?| class S HA

private Imagelcon[][] getResizedIcon(){

icons = new Imagelcon[6][4];
for(int i = @; i < 6; i++)q
for(int j = @; § <« &4; j++){
System.out.println{iconNames[i][j]);

Use "Thread.currentThread().getContextClassLoader()" instead.
Why is this an issue?

¥¥ Bug - Minor + (O Open ¥ Not assigned v 5min effort Comment

activatedIcons = new ImageIcon[2];

java.net.URL urll = Thread.currentThread().getContextClassLoader().getResource("start.png");
java.net.URL url2 =Thread.currentThread().getContextClassLoader().getResource("pause.png");
ImageIcon iconlImageIcon = new ImageIcon(urll);

ImageIcon icon2Imagelcon = new ImageIcon(url2);

Image originIconl = iconlImageIcon.getImage();
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Test

[#32] [Alarm]

> M BHE aEk =

— = 3
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Updated by
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Test

[#43] [Sleeping] =& =™ A|ZH0{| Cheering Message?t &3 | =X| =2 QIBIC}

_

- Use Case 24. Buzz cheering message 0| M Z| & =0 A|ZIC =8 E 30X 271 LS [ YEO| o H

=& =7

> Use Case 25. Show cheering message 0| A %X =0 A|ZtS —'T'—E1 3027t E| = M| Cheering
message= 2HO| EO0| =& =3

> off S {IX|of MEKIT} E[ AKX = -I-:Ijé)F s 4 20

Updated b
Use Case 24. Buzz cheering message BA 2|8 =% AZSE=2H 30& =71 Eii; oo st H & \:= =TFLC
Use Case 25. Show chesring message ¥4 2% -1;': AMZLLZSE 3027 DS E I = "1\ Ch g ageE i O EHBI=E 2HHL

Updated by jihyun choi 1 day ago

let display function list®lAf cheering message?t &A% O HEER{ZF ALK &| L),

Updated by jihyun choi 1 day ago

Updated by about 2 hours ago

Updated by 16 minutes ago
SHE QIF Y| AT ZAT s BaE HEREUL



Test

[#76] [SetTime] SetTimeOl| A 52 0| X|L7}H display time2 = Z0t7t=X]
[#77] [SetTimer] SetTimert| A 5& 0] X[L}7} & display timer2 &=0t7t=X| =
[#78] [SetAlarm] SetAlarmOf| A 52 0| X|L}7}™ display alarm2 2 Z0t7t=

> Back to base & I E

Description

brute force 1_5, category partitioning test 5

Of HLt74E display time 22 SO0fHA) 2HEL,

SetTime Q4] input 210/ 520 -
Subtasks

Related issues

History

Updated by jihyun choi 1 day ago

Updated by && 2} about 1 hour age

back to base #H ZE =T F sl HsLT

Description
brute force 2_4, category partition test 15

SetTimer MAf input 20/ 5 £0] XLEFFE display time 22

ufy

OFFFX] RH=LCF

Subtasks

Related issues

History

Updated by jihyun choi 1 day ago

Updated by jihyun choi about 22 hours ago

2=

Updated by &% &} about 1 hour ago

back to base 8 ZE =T StESHD

Description
brute force 3_4, category 29
Set Alarm XA input 20| 520 ZLt7tE display time22 FC0HHR

Subtasks

Related issues

History

Updated by jilyun choi 1 day ago

Updated by jilyun cheoi about 22 hours ago

Updated by & = about 1 hour ago

back to base 28 ZE =T & SHESLC



Feature

[#36] [Alarm] specOfl 2| 3tHO| LI =X| =0

AA

> HTML ZE = &0| 22|&= O|0|X| & =2{2t=4,
JAR 2 E 5 resourceE MU ZE 22X =l Dlist= =X siZ

> AlarmS on 3tH @ 2Z 3|CH0| ON BA|Z2 HSIEE X

Updated by jihyun choi 3 days ago
AlarmE HE FEHD) SMT HTIES SET AL

E:Ili::? fE[EE‘ 3__. = B = B0 OFEHO] M T BHELE] QLT Updated by £ O about 1 hour ago

AHEIDE Z0], alarmE on SHE 2 = E OS2 M7 HEIE| 2L chowAlarming A1EH [ HTHLEEE 055 20| 2510 0|0/ & Zo2a% AR LE = resource® MOHE £E0K 25 47 =
ST e IEE BES STE AHYLD

wrzto] £ Of O|0)X| 7 HTEE SSEX AU ey e s e



Feature

[#39] [Sleeping] specOll XA 2tHO| L2 =X| =0

= T A o = AL

> =AM =8 =HA[ZLS 178 A2 Z|C] =T A
| > — o

OFE AL EHEX| e 87 A

—t —t
> 2tHO| @ 25 StHO| OFF M| A
Updated by jihyun choi 3 days ago
1, BE $£FA|IZHE 1S ME Z0 55 A|ZHS HEFE ©, display SleepingTime S EY IR HE SR
2. specit 2| set wakeuptimeXA 212 SHEHH OFF =M 71 Sl LG

[

L.E- =

H2 HAMZ W, display SleepingTime 2} HOf




Vulnerability

[#85] Returning 'alarmingDay' may expose an internal array.

> Arrays.copyOf() & Ar2d| o 2

import java.time.LocalTime;

public boolean[] getAlarmingDay() {

+ import java.util.Arrays:

public class Alarm {

Returning "alarmingDay' may expose an internal array. private boolean[] alarmingDay;
ﬁ Vulnerability *+ & Critical * (O Open = Not assigned = @@ -17,7 +18,7 @@ public Alarm(){
b
¥

public boolean[] getf&larmingDay() {
return this.alarmingDay;

+ return Arrays.copyOf(this.alarmingDay, this.alarmingDay.length);



Vulnerability

[#85] Returning 'alarmingDay' may expose an internal array.
[#86] Returning ‘functions' may expose an internal array.
[#87] The user-supplied array 'alarmingDay"' is stored directly.

> Arrays.copyOf() & Ar2dl o 2

public booclean[] getAlarmingDay() {
public boolean[] getAlarmingDay() {

return this.alarmingDay;

PN o b e e L Wl Aoy Mo e = bt B + return Arrays.copyOf(thiz.alarmingDay, this.alarmingDay.length};

Returning "alarmingDay' may expose an internal array. public Int[] getfunctions() ¢

B Vulnerability ~ Critical + (O Open + Not assigned +

return this.functions;

- return Arrays.copyOf(this.functions, this.functions.length]);

public int[] getFunctions() {
public woid updatedlarmValue(boolean[] alarmingDay, LocalTime alarmingTime){

- this.alarmingDay = Arrays.copyOf{alarmingDay, alarmingDay.length);

Returning 'functions' may expose an internal array.

E Vulnerability + @ Critical *+ (O Open + Not assigned

The user-supplied array "alarmingDay’ is stored directly. \Why is this an issue?
B Vulnerability = Critical *+ (O Open + Not assigned + 20min effort Comment



Vulnerability

[#88] Explicitly declare the visibility for

> X X2 fieldE0f Ct private 37t

Explicitly declare the visibility for "SECOND _LONG". '
ﬁ Vulnerability = Minor = ) Open = Mot assigned = £

Explicitly declare the visibility for "MINUTE_LONG™. V'
ﬁ Vulnerability = Minor = ) Open = Mot assigned = £

Explicitly declare the visibility for "HOUR_LONG". Wh
ﬁ Vulnerability = Minor = ) Open = Mot assigned = £
Jmainfjavaiview/ButtonHandler java

Explicitly declare the visibility for "test”. Why is this an
ﬁ Vulnerability - Minor = ) Open~ Mot assigned = £

mainfjavaiview/DisplayManager_ java
Explicitly declare the visibility for "cheeringMessages”.

& Vulnerahility = Minor & Open ~ Mot assigned = 5r

Explicitly declare the visibility for "selector”. Why is this
ﬁ Vulnerability - Minor & Open ~ Mot assigned = 5r

String[] btnNames

{ IIAIIJ l|E||J l|'::||J IIDII}i

JEutton[] buttons = new JButton[btnNames.length];

int[] btnX
int[] btnY

private string[] btnMames

new int[1{55, 488, 55, 400};
new int[]{125, 125, 275, 275};
£ oA, MR, RCh nDeds

private JButton[] buttons = new JButton[btnMNames.length];

private int[] btnX

private int[] btnY

£/ JPanel

new int[1{55, 488, 55, 408};
new int[]{125, 125, 275, 275};

RoundJPanel outerPanel = new RoundIPanel():

RoundJPanel innerPanel = new RoundIPanel();

private RoundlPanel cuterPanel =

private RoundlPanel innerPanel =

S/ Color

new RoundJPanel();

new Round]Panel();

Color outerPanelColor = new java.awt.Color(22@, 228, 228);

Color innerPanelColor = new java.awt.Color(@, @, @);

private Color outerPanelColor

private Color innerPanelColor

new java.awt.Color{22e, 220,

new java.awt.Color{@, 8, @);

228);



Vulnerabillity

[#89] Use a logger to log this exception

> Buzzer.javaO| Al A8 E 2t exceptionO| & M{OLCH log HA|X| & E2SI 2 &

public synchronized void threadWait() { try {
try { thiz.wait();
this. wait();
} catch (InterruptedException e) {

T catch (InterruptedException &) {

X - e.printStackTrace();
e.printStackTrace();

+ Logger.getlogger("logger").log({Level.INFD, "Failed to wait thread"):

Use a logger to log this exception. Why is this an issue? e o UESEE I

E Vulnerability - Minor = ) Open = Not assigned » 10min effort Comment

(3]
l':“-'.l

-55,7 +58,7 @@ public woid runf) {
try

Thread.sleep(1888);

¥ catch{InterruptedException &) {

+ Logger.getlogger("logger" ). log(Llevel . INFO, "Failed to notify thread™);



CodeSmell

[#90] Remove this throws clause.

> Exception= throwE [ log HIA|X|E &

+

public class Main { import java.util.logging.Level;

public static woid main(String[] args} throws Exception{ + import java.util.logging.logger;

o

Remove this throws clause. Why is this an issus? public class Main {

@ Code Smell = ) Blocker = (O Open = Mot assigned = 15min effort = public static void main{String[] args) throws Exception{
- mew UI();
+ public static Logger logger = Logger.getlLogger(™logger™);
o
+ public static void main{String[] args) throws Exception {
+ try {
+ new UL(};
+ T catch(Exception ) {
+ logger.log{Level.SEVERE, "Failed to start watch");



CodeSmell

[#91] "icons" is the name of a field in "Window"

- field name H4

ImageIcon[][] icons;

......... - Imagelcon[][] icons;

"icons” is the name of a field in "Window™. Why is this an issue?

& Code Smell~ @ Blocker v (O Open~ Not assigned ~ 5min effor + I“EEEIE O [ ] [ ] clockIcons 3
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